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* No noticeable difference between pretzel off and pretzel on

e For e+ =

0 mA “noise” level ~ 3 ADC counts peak to peak

* Fore+ = 158 mA “noise” level ~55 ADC counts peak to peak



v

-
o

Avg Pulseheight (mV)
“
(421

fa
o

0.75

0.5

—0.5

79 mA of positrons

Train 1

||1I|IIII|II\\‘IIII|IIII|IIII|IIII|\\II
D
! = =
= 3
LB
=
)

RJ

28 30 32
PMT Channel {1mm pitch)

1
I
na
+
ra
[+7]

PMT HV =600V (2245)

g+

Y
o

Awg Pulseheight (m¥)
.
(43}

1.25

0.75

n.5

—0.5

Train 1

Bunch 1
Bk 2

Bunch 4
Bunch &

|

H
|

‘\

o)
%]
n
&
]
o

28 30 32
PMT Channel {1mm pitch)

PMT HV = 0V (2220)

* Looks like background “noise” source is not light
* Would like to take raw data to look at time structure



